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6/13/24, 11:58 AM about:blank
Sub-Section Id : 873265164
Question Shuffling Allowed : No

Question Id : 8732654078 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension

1-5 Questions : Read the following passage and answer the
questions that follow :

Our present idea about the motion of bodies dates back to Galileo
and Newton. Before that people believed in Aristotle, who said that the
natural state of a body was to be at rest and that it moved only if driven
by a force or impulse. It followed that a heavy body should fall faster
than a lighter one. because it would have a greater pull towards the
carth.

The Arnistotelian tradition also held that one could work out all the
laws that govern the universe by pure thought: it was not necessary to
check by observation. So no one until Galileo bothered to see whether
bodies of different weight did in fact fall at different speeds. It 1s said
that Galileo demonstrated that Aristotle’s belief was false by dropping
weights from the leaning tower of Pisa. The story is almost certainly
untrue, but Galileo did do somethmg equivalent: he rolled balls of
different weights down a smooth slope. The situation 1s similar to that of
heavy bodies falling vertically. but it 15 easier to observe because the
speeds are smaller. Galileo’s measurements indicated that each body
increased its speed at the same rate. no matter what its weight. For
example. if you let go off a ball on a slope that drops by one meter for
every ten meters you go along. the ball will be travelling down the slope
at a speed of about one meter per second after one second. two meters
per second after two seconds. and so on, however heavy the ball. Of
course a lead weight would fall faster than a feather. but that is only
because a feather 1s slowed down by air resistance. If one drops two
bodies that don’t have much air resistance. such as two different lead
weights. they fall at the same rate.

Sub questions

Question Number : 1 Question Id : 8732654079 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Our preset 1idea of motion dates back to ?

Options :

about:blank 2/112
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Aristotle

1. ®

, » Plato

Copernicus
3%

Galileo
L4

Question Number : 2 Question Id : 8732654080 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

According to the Aristotelian tradition the laws of the universe can be
understood by ?

Options :
Logic
1. #

Thought
2.

Faith

3. %

Observation

Question Number : 3 Question Id : 8732654081 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following falls down faster?
Options :

Feather

about:blank 3/112
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) % Ball

Nothing
3. %

Lead

4.9

Question Number : 4 Question Id : 8732654082 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Find the word 1n the passage which means ‘opposition’?
Options :

- Logic

Thought
2. %

Faith
3. %

L Resistance

Question Number : 5 Question Id : 8732654083 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Find the antonym for ‘equivalent’ in the passage

Options :

Identical
1. ®

Simular

about:blank 4/112
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Difterent

3.¢

. Opposite

4.

Sub-Section Number : 2
Sub-Section Id : 873265165
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 8732654084 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The match by the time we reached the stadium.

Options :

had started

1.«

was starting

2. %

would have started
3. %

started
4, %

Question Number : 7 Question Id : 8732654085 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
My mobile phone 1s stolen (Choose the correct Active Voice)
Options :

Some steals my mobile phone.

Someone has stolen my mobile phone
2.¥

about:blank 5/112
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A thief has stolen my mobile phone
3. %

My mobile phone is stolen by someone.

Question Number : 8 Question Id : 8732654086 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
I said to my friend “Stop smoking” (Choose the correct Indirect Speech)

Options :

I ordered my friend that he should stop smoking

1. ®
I advised my friend to stop smoking
2. v
I told my friend that smoking 1s injurious to health
3%
I requested my friend not to smoke
4. %

Question Number : 9 Question Id : 8732654087 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

She was ignorant. She admutted it. (Combine these two sentences into
one Simple Sentence)

Options :

She was 1gnorant but he admuitted it
1. ®

Being 1gnorant, she admitted 1t
2. %

about:blank 6/112
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Despite her ignorance, she admitted it
3. %

She admitted her ignorance
4.9

Question Number : 10 Question Id : 8732654088 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Find the correct sentence among the following :

Options :

One of the boys are making lot of noise in the class.

1. #
Furnitures are properly arranged in the hall.
2. ®
He 1s too weak to walk
3.¢
I could not be able to get through the examination mspite of my
hard work.
4. %

Question Number : 11 Question Id : 8732654089 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the appropriate preposition:

She has got lovely gold bangles her arm

Options :

n

about:blank 71112
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on
3.¢¥

at

Question Number : 12 Question Id : 8732654090 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the tense in the following sentence:
How long have you been reading that book?
Options :
Past simple

1. #

Present contimuous

Past continuous

Present perfect continuous
4.9

Question Number : 13 Question Id : 8732654091 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct spelling:

Options :
Playwright
1.v
Playright
2. ®

about:blank 8/112
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Playwrite

Playerite
4. %

Question Number : 14 Question Id : 8732654092 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Transform the following Simple sentence into a Compound
sentence :

Being a vegetarian. she doesn’t eat meat.

Options :

She 1s vegetarian; she does not eat meat

1. ¢
She. a vegetarian do not eat meat.
2. %
She 1s a vegetarian, so she does not eat meat.
3%
She 1s vegetarian. ...not eat meat.
4. %

Question Number : 15 Question Id : 8732654093 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Turn into direct speech :

Ramya told me that she wants to go to Canada next year.
Options :

Ramya said, “T want to go to Canada next year”.
1. ¢

about:blank 9/112
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Ramya says, “I want to go to Canada next year”.

2. %
. Ramya said, she wishes “to go to Canada next year”.
3.
Ramya says, “T wanted to go to Canada next year”.
4. %

Question Number : 16 Question Id : 8732654094 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
What is the synonym for the word ‘Synonym’?
Options :

Supremacist

Opposite

2. ®

Similar
3¢

Infinitude

Question Number : 17 Question Id : 8732654095 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Turn into reported speech :
I am going away for a few days.
Options :

She says she 1s going away for a few days

about:blank 10/112
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She said she 1s going away for a few days

2. %
) She said that she was going away for a few days
3.9
She said that she is going away for a few days
4. %

Question Number : 18 Question Id : 8732654096 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0
Choose the correct sentence.
Options :
Her hairs were grown

1. #

Her hair is grown
2.¥

Her hair are grown
3%

Her hairs are grown
4. %

Question Number : 19 Question Id : 8732654097 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
He tried to kill the snake. 1t went mto the anthill.
Options :

mstead

for
2. 8

about:blank 1/112
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still

3. %

however
4.

Question Number : 20 Question Id : 8732654098 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

He crossed Indian ocean twice.

Options :

the
1. ¢

a1l

zero article

Question Number : 21 Question Id : 8732654099 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which among the following is the correct sentence?

Options :

Ranadhir 1s going to arrive tomorrow

1. %
Ranadhir will have arrive tomorrow
2. %
Ranadhir will arrive tomorrow
3.V

about:blank 12/112
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Ranadhir will be arrive tomorrow

Question Number : 22 Question Id : 8732654100 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the correct sentence.
Options :

The porter insisted helping us with baggages.
1. ®

The porter insisted to help us with our baggage.
2. %

. The porter insisted to carry a baggage.
3,

L The porter msisted on helping us with our baggage.

Question Number : 23 Question Id : 8732654101 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
In which sentence is the Article “an” used correctly.

Options :

He eams an about thousand rupees a month.

Shakespeare is an renowned dramatist .
2. %

I had never visited an hospital before.
3. %

He has been here about an hour.
4.

about:blank 13/112



6/13/24, 11:58 AM about:blank

Question Number : 24 Question Id : 8732654102 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the sentence in active voice.

Options :
A Kkite 1s being made by the boy.
1. #

She was admired very much by him.
2. %

English 1s spoken (by people) in many countries.
3. % )

Somebody set the huts on fire.

Question Number : 25 Question Id : 8732654103 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

One word Substitutes.

A thing occurring again and again for a long time
Options :
anachronism

expatriate

chronic
3¢

coincident

General Knowledge
Section Id : 873265138

about:blank 14/112
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about:blank
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 15
Number of Questions to be attempted : 15
Section Marks : 15
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 873265166
Question Shuffling Allowed : Yes

Question Number : 26 Question Id : 8732654104 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In May 2024, who was appointed as the President of GST Appellate
Tribunal?

b
Lot & Youpbadst - §-01-@ G 2oy G
A S DL,
s h g B e
Options :

Justice (Retd) K.G.Bala Krishnan
b £ () st

Justice Surya kant

il ot

Justice (Retd) Sanjaya Kumar Misra

/'..-4/ &‘f[,f—/ (‘jﬂr‘f’)(mf}“”

3.¢¥

about:blank 15/112
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Justice A.S.Bopanna
b

by et (A

Question Number : 27 Question Id : 8732654105 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

The scientists discovered the deepest “Taam Ja” blue hole near which
country
|

s
" TArwm Ia'yﬂdwwfjhbf;uj}ﬂb
i -
5‘.,:{_:)_[:/? ' J,-,;,yl'

Options :

Mexico

about:blank 16/112
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Chile
wt

Question Number : 28 Question Id : 8732654106 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which Delhi Sultan was known as “Prince of Moneyers™?

a . , Ve
P¥imca % Mowsyevs ' v L g
§ e"’u.’ (T_'/

Options :

Alauddin Khalji

Y
1. ® (’SPQ/J

Firoz shah Tughluq

G s

Muhammad bin Tuglug

(o 2

4.

about:blank 17/112
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Question Number : 29 Question Id : 8732654107 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Gandhiji withdrew the non-cooperation movement because of

/ -

g}s@?_wry i@ EpV = o

Options :

Chauri-Chaura incident

AR . 2

1. v

Jallianwala Bagh massacre

S—-l&' d;; 4 ﬁ_L s C)"I—L’

2. %

Gandhi-Irwin Pact

splon oy )-pi¥
3. % ‘

Poona Pact

YA

4. %

Question Number : 30 Question Id : 8732654108 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 18/112
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Which of the following was not the work of Rabindranath Tagore?
107 Rk it ey o s
Options :
Gitanjali

7
St

Anandmath

pb ot

2. ¥

(hare-Baire
. C 74
3. %

Gora
W
29

Question Number : 31 Question Id : 8732654109 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Rukmini Devi Arundale was famous dancer in
L P, Gl G . 7/
157 3O A i s s
¢ (4 ~ ¥y

Options :

about:blank 19/112
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Kathakali

S

Kathak

i

e

Bharatanatyam

i

about:blank

Question Number : 32 Question Id : 8732654110 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following was the highest water fall in India?

LY o G 0 e 0

Options :

1. #

about:blank

Athirampally water falls

e

20/112
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Kunchikal water falls
> N ¢
L
5

Hebbe water falls

Pl S

2. ¥

3. %

Jog water falls

A Y

4, %

Question Number : 33 Question Id : 8732654111 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Seismology is the study of
p ) e Vi Se:bualaagf "

Options :
Volcanoes

Ol T

Cyclones

3 Lo d

about:blank 21/112
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Earthquakes

‘yl.}

3.¢¥

Tsunamis

(o Ly

Question Number : 34 Question Id : 8732654112 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Who was the first Chairperson and Managi ‘
Bharatiya Mahila Bank? aging Director (CMD) of

/f g -~ ' f - L}
- ’ M v o les
__lﬁ-f:_-:‘ /; &/4,/:;, %;' z __J‘_’::" - - M

¢ “s o) (amD ) A

Options :

Usha Ananthasubramanian

(i L o) gt

1. ¥

S.M.Swathi
G @l
Leena Nair

e

3. %

about:blank 22/112
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Roshini Nadar

/‘;L‘ @:43

4.

Question Number : 35 Question Id : 8732654113 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Narasimhan Committee-IT was appointed to recommend reforms on

I = # . ¥y
W gl g L Bl o

—

Options :

Insurance sector

1% ":L?Cfv:"fﬁ
Poverty
w4
2. % /
GST
b
3-o2t-62
3. %
Banking sector
' A
o2 § Doti,
4. :

Question Number : 36 Question Id : 8732654114 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 23/112
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Part IIT of the constitution of India deals with
.;-_*"f(‘;k,;du/, s Wbt LU

Options :
The Union and its Territory
Y (5_'," o o ér-:‘i"{

1. ®
Citizenship
"':f’/“;/
2. % -

Directive Principles of State Policy

df“‘"[é}?’;ﬂ“—”é(’:’é”

Fundamental Rights
(359 G L

4.

Question Number : 37 Question Id : 8732654115 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Who was the first Chief Election Commissioner of India?

o
- / , '/ ; > i
T 07,00 fW i 2 gl A

Options :

about:blank 2z



6/13/24, 11:58 AM about:blank
S.P. Sen Varma

L, g’ -g -

1. ®

Sukumar Sen

W/b\,f:/

2. ¥

Kalyan Sundaram

[—'J»"-/ ©, L’-'!’r

3. %

T. Swaminathan

Uﬂrc(j"l"j'(;

4, %

Question Number : 38 Question Id : 8732654116 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

What is the theme of International Farth Day 20247
/ " "
. ‘F‘Peﬂf 4 jﬂh&'\wi'imf&'ﬂﬁ Doy - 2024
Options :

Invest in our planet

1. ®

about:blank 25/112
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Restore our earth

o’ﬁ‘ 3/@:4/'5;;&;1

2. ®

Planet vs plastics
y
\_j...._.-/E—' ,‘L L{# ~” ) é_./

3.¢¥

Protect our Species

b'j/rf-fd)}..-: cr'f(:}f

4. %

Question Number : 39 Question Id : 8732654117 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Jim Corbett National Park was mainly the reserve of

A0 Ten Covpat Nakiowal Pk

Options :
Tigers
A
-
1. ¢
Lions

Rhinoceros »

about:blank 26/112
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Crocodiles
I

e

Question Number : 40 Question Id : 8732654118 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

What is the name of the document maintained by IUCN about the rare
and endangered species of plants and animals?

z C;'yl sbs> d;}j e bl $ 0996 Ly s
/ - Sk .
fqy(\f,‘_é/ Q;L./:sf[(._.,f,{f/ £ LU CN & a—,xuf,
Options :

Green List

N1 4

Red List
Sl ,JJ:_:J

2. ¥

Black List
ol S
®

3.

Yellow list

salish

4, %

Teaching Aptitude

about:blank 27/112
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Section Id : 873265139
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 10

Section Marks : 10
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 873265167
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 8732654119 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The role of a facilitator in classroom is
T - .
b bl szVLJ_r;* o st g/
Options :

To dictate information to students

bl ls lgten 50

1. %
To guide and suppurt student leaming
dld-’ Gt LJ-' J (,v
2.
To admin.ister tests
/£ eni S -
{./. > L-vl P Clsm /
3. %
To discipline students
/
4. ® | (JV

about:blank 28/112
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Question Number : 42 Question Id : 8732654120 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Primarily the development of child is depend on
- : e Liils gvig 5
f“/y“,;' 4/x)tf:,_f.’fs¢f
Options :
Parents

Al

Society

e

School climate

dole (o101

3. %

Environment

o Ul

4. v

Question Number : 43 Question Id : 8732654121 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The position of the teacher is teaching learning process.
'3 : 5
sl bl o o gl (o

Options :

about:blank 29/112
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a leader

Lass

1. ¢ .

a dictator

1
2. # /’
a member
£ S
S
3. %
ad’i/rector
B4R
5 /{r
/ff’ b

Question Number : 44 Question Id : 8732654122 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Effective teaching is a function of

! . r
—— 5 o (V) i S
Options :

Teachers satisfaction

Ol ¢

1. ®
Teacher’s honesty and commitment
: ~ 2T
A 3l erwle) HHB
2. %

about:blank 30/112
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Teacher’s making students learn and understand

;
U S 62 g o0 pae S

3.¢¥

Teachers liking for professional excellence.

fi ' Va .
Sy 27 2V s S 5L
4. - - )

Question Number : 45 Question Id : 8732654123 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
What does the term “learning style” refer to?
f)/’/?fc:'-‘f " s easin; g S‘})'L 7 s
Options :

The speed at which students learn

i ’
) 3 3o

1. %

The preferred way a student learns best

= M Pt (0 3 (JlIe s luth

2. ¥ -

The number of subjects a student can learn

. e
.;d:;./_,,urpqﬁ Yoo G

3. % ’

The location where learning takes place.

o £ A

4. %

about:blank 31/112
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Question Number : 46 Question Id : 8732654124 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

What does “cognitive development” focus on in the context of
education,

L

o g B G P 62 S L
Options :

Physical growth of students
L gl S ot

1. ®

Emotional intelligence

b s

Mental processes and skills like problem solving and critical
thinking. .
1"‘ - £ Fa o L, _’.' a"’)
By G ! LA (Jo e et (s 2 Ja

3. ¢

Social interaction among students.

Pl gbalrolr ol

Question Number : 47 Question Id : 8732654125 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Interaction inside the classroom should generate

v K sy pla @b thof g e o

Options :

about:blank 32/112
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Argument
s

Information

Controversy

o

Question Number : 48 Question Id : 8732654126 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which one of the following statement is correct.
- i ;r /t:“‘
-t St> U.t:;'f’(),’f C}: s
Options :

Syllabus is annexure to the curriculum

7’ ' ™ L!
ﬁgw.::-'._g(ﬁuea}vf(s: =

1. ®
Curriculum is the same in all educational institutions.
' ra 5 -
.;f-—‘-'(..u olr o ur/’ﬂ'@.':"f’t"
2. %

about:blank 33/112



6/13/24, 11:58 AM about:blank

curriculum include both formal and informal education.

%(}-L'?(l:’ro,_/zﬂ}fﬁ@‘/" 03“"’[‘&'0"1‘;

3.9
Curriculum does not include method of education.
'? f 1 i ¥ < 2
bl f 1 S lared N 7o
4, % O

Question Number : 49 Question Id : 8732654127 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which is the least important factor in teaching

f Ll
— o Wy ) P o

Options :
Punishing the students
o 1 5wt
1. v

Maintaining discipline in the class

(s /o 5 A5 Gr e 04

2. %
Lecturering in impressive way

- '} ‘_, r fr

Ot gp S o e

Drawing sketches and diagrams on the black board.
/ ; - il
W ,:“;j YL [!/,;:’,y/;/ egrd

4. % A

about:blank 34/112
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Question Number : 50 Question Id : 8732654128 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The ability to learn by an individual is
A, o
o ol G s ot
Options :

Acquired by the individual

Ligo b =27

1. ®

Developed by the teacher

e
o, U 5 50 (=)

2. ® s

Absorbed from environment

£ 5

3. %

Occurred from within

t . "'J N . ;
ﬁ' 6' £ 41 '/ )l’ S el
4.
Botany

Section Id : 873265140
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 50
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 873265168
Question Shuffling Allowed : Yes

about:blank

35/112
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Question Number : 51 Question Id : 8732654129 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The stem exhibits plectostelic condition in

Omg.wcuué&fffd/:;“
) e VLY
Options :

Lycopodium clavatum

AR (P

1.V
Lycopodium cernuum
25
[“” YA (f,; sl
2%
Lycopodium serratum
v
g A A
39 SAY
L A,
Lycopodium selago
S S50
4. %

Question Number : 52 Question Id : 8732654130 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In Marsilea the spore producing organ is
_ v/ .
s 5 S e g iy O Ll

Options :

about:blank 36/112
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Cones

bt

1. #
Sporophylls
v Gy
2. % =
Sori
(o 2%
3. %
Sporocarps
Dy
4.9 A

Question Number : 53 Question Id : 8732654131 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Transfer of genetic material from one bacterium to another through
bacteriophage is known as

Qoo Op2 Iy o3 f"’b-?*’@/j(“ﬂ’-"?

ot S JeEe & S =l

Options :
Conjugation
;,’/ v
1. #

about:blank 37/112



6/13/24, 11:58 AM about:blank

Transformation

A

2. %
Transcription
3. % d:‘J
Transduction
SV |
4.

Question Number : 54 Question Id : 8732654132 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

This is a heterocystous aerobic nitrogen fixing Cyanobacterium

MJ/«JLGWWJ& . _Jf-'.p:

Ci S

Options :
Phormidium
_j. ]
~ sy
1. ®
Oscfﬁamrfa
L,piL
2. ®

about:blank 38/112
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Anabaena
L, LYy

3.¢¥

Trichodesnium

e 4 15

about:blank

Question Number : 55 Question Id : 8732654133 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes

Correct Marks : 1 Wrong Marks :

Teliospores produced in the life cycle of Puccinia graminis tritici are

/
= sl gt mgﬂdb; G"C‘f—ﬂ e L1
- CS”.:L)‘.?.— ;.Lo’;(yujﬂ_y"_u

Options :

Two celled with two nuclei in each cell

1. ¢

" s
g-L/"J)-JJ;c_—}/JJ O.Z‘q".ib“"f?it"" !

Two celled with one nucleus in each cell

$s8 Dy o G ot

One celled with one nucleus

Wéfﬂ];W‘fﬁ

about:blank

39/112
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One celled with two nuclei

M Y5221

4, %

Question Number : 56 Question Id : 8732654134 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The causative organism for Blast of rice is

besagloral” o b o

¥

N

Options :
Helminthosporium oryzae

e ol (A satih K

1. #

Pyricularia oryzae

) R R o1

2.9
Xanthomonas oryzae
L__’/-&};'va_}p s [;
3. %
Phytophthora infestans
hN Jsaed s 3L

4, %

Question Number : 57 Question Id : 8732654135 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 40/112
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One of the following is related to Polysiphonia

o G Ul = e/ b am S
Options :
Haploid carposporophyte
Py . b 7
Eabaygrs WAy
1. ®
Diploid tetrasporophyte
Cauls) fﬁ A1 _,{/ P
2. ¢
Haploid chantransia stage
Azl LEGY 5§
3. % -
Conceptacles
) %Aﬂd 4
4. %

Question Number : 58 Question Id : 8732654136 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

This alga is used as food for astronauts and in space ships
o Yz ol Ho"0s) LYo R o )
O "E'/-’/d lew \Vile k)

Options :

about:blank 41/112
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Chlorella pyrencidosa
Less Sy 3 b Myt K
1. ¢ -
Spirulina
LI L;-f J

2. %

Scenedesmus

(IS G

3. ®

Anacystis

=l

Question Number : 59 Question Id : 8732654137 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In Marchantia the type of sexual reproduction is
s bad e b ul P aTese Lt Lo

Options :

Anisogamy

Sl (2

2. %

about:blank 42/112
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Physiological anisogamy

e Sl R Gl
Oogamy

S lycsolot
4. ¢

Question Number : 60 Question Id : 8732654138 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In Funaria the number and arrangement of peristomial teeth are
r Vs i 1 ; Lo A
- ‘-:E"L-;”/-J"J'_N'-l ¢ vy JC_{"“' L g
Options :

32 arranged in one ring

A gtz h 32

» L A

- b e

32-64, arranged in one ring along the rim of thi capsule
b Do S e w27 Gt S by

L2 s
2. % -
32, arranged in two rings of 16 each
—L- 16 C{,“éjjx_é 0\ - 3a
el D et =
3.¢

about:blank 43/112



6/13/24, 11:58 AM about:blank

16, arranged in one ring

J_, M&c (f 1%
m.:r’;‘_.,a

Question Number : 61 Question Id : 8732654139 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The shape of T4 Bacteriophage is

Sl 50 2t T

Options :
Rod shaped
o & Yo
1. ®
Rectangular
2. %
Polyhedral
a4
C_+
3. % /:N
Tadpole
4
Lops 45
4.v

Question Number : 62 Question Id : 8732654140 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

about:blank 44/112
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Correct Marks : 1 Wrong Marks : 0

The capsid of the virus is made up of
/(,/}szag-'gﬂ A €S

Options :
Chitin
B "
1. %
Pectin 5
L
ey
2. ¥
Protein
b
P2
3.¢¥
Peptidoglycan
4. %

Question Number : 63 Question Id : 8732654141 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In the coralloid roots of Cycas an algal zone is present in this part

(:'L;ﬁf_}””»nvaﬂf (AJJ_J«-‘;'C?JWG C’JIZUL”

Options :

about:blank 45/112



6/13/24, 11:58 AM about:blank

Outer cortex

ARV

1. ®

Middle cortex

o B 3>

2. ¢

Inner cortex

o 39354t

3. % P

Endodermis

PRI L.
4. %

Question Number : 64 Question Id : 8732654142 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
This fossil is also known as Bennettites

et Oﬁt‘c@r "j;&gﬂlfgv”1

Options :

Williamsoniella

W Gy (I

about:blank 46/112
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Williamsonia

o

Cycadeoidea
Lial s L

3.¢¥

Wielandiella

WireXo o s

Question Number : 65 Question Id : 8732654143 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes

Correct Marks : 1 Wrong Marks : 0

Central National Herbarium is located at

0 O 0%) " £ k2 St S e

Options :

Kolkata

Dehradun
O é- jﬁj

3. %

about:blank

471112



6/13/24, 11:58 AM about:blank

Coimbattore

e )-ﬂi_a’/

4. %

Question Number : 66 Question Id : 8732654144 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

As provided by ICBN this rank ends with ‘oideae’
g
7 "e.gjj’rn v p _{ﬁg_}u JEY e Yo\

- ﬂ_—rU‘f.:’,—@

Options :
Subfamily
OYreah 3
1.«
Order
NS>
2. %
Class
Sl
3, %
Tribe
oo
4, %

Question Number : 67 Question Id : 8732654145 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 48/112
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The inflorescence is a homogamous head in

R AT A

Options :
Tridax
i Dl
1. %
Helianthus
2. ® )
Blumea
L 3
3. % =
Chrysanthemum
™ L'l‘::‘/-'/
4. r‘\fﬂ

Question Number : 68 Question Id : 8732654146 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Para rubber is obtained from
s I
s_([? P A e G /,f/.;: 7 "/,,)
Options :
Ficus elastica

Lo Wy s U

1. %

about:blank 49/112
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Hevea brasiliensis

st @ L by

2. ¢
Manihot glaziovii
sy 1048, LG\

3. %

Parthenium argentatum

Fupiz/he g
4. %

Question Number : 69 Question Id : 8732654147 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

Ginkgo biloba is a common example for this type of endemics

Bpe iy 0fn U2 D o b L AT

Options :
Palacoendemics

L

1.

Schizoendemics

Apoendemics

ot Golkes)!

about:blank

h,gdfd{.ip

50/112
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Patroendemics

1 o éi}’)\g;}:ﬂ .

Question Number : 70 Question Id : 8732654148 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In Eastern Himalayas the Alpine zone occurs at this height

) as U i mfoﬂw’ Lucf@&sw
; &Lﬂy[/,f?gu.?'

Options :
Upto 1000 meteres

o seteos

1. ®

Upto 2000 meteres
s s 200

Upto 3000 meteres
'__’i’;* /fi-,.:,p Zo0o

Above 4000 meteres
J’}"P Lo

4. v

Question Number : 71 Question Id : 8732654149 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

about:blank 51/112
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Correct Marks : 1 Wrong Marks : 0

The strong mutual attraction between water molecules resulting from
hydrogen bonding is known as

ubﬁ/gg,o_;ju)fﬁﬁtd M;({jﬁ(_ﬂﬁ/‘-ﬁ"(
o ot (_‘:“L,LM@JJL%M

—

Options :

Adhesion

Cohesion

Il

Surface tension

AL

3. %

Tensile strength

W Ve LT

4. %

Question Number : 72 Question Id : 8732654150 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

This mineral is essential for the translocation of sugars in plants.

B NV O O l{/’f};l) cé(‘?» Qe )Y

Options :

about:blank 52/112
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Manganese

pear

Boron

olysl

Molybdenum
(rﬁf i Lo

+

4, %

Question Number : 73 Question Id : 8732654151 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Tetrasporic type embryo sac is present in
] @W é' (c:’ < //é_/ ﬁ
0, ENEY o
Options :

Polygonum

BEar

about:blank 53/112
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Oenothera

a5

2. %
Peperomia
e sy %M’
3.¢¥
Allium
4. %

Question Number : 74 Question Id : 8732654152 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The cell walls break down completely in this type of tapetum

o o ke gt B
= 2 by P Sfrape pdy s ot OF
K ety

Options :

Secretory tapetum

Gt o i

Glandular tapetum

Ay s

about:blank 54/112
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Amoeboid tapetum
ol
3. ¢
Integumentary tapetum
ey s
4. %

Question Number : 75 Question Id : 8732654153 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

An inverted pyramid is present in
&f_ﬁﬁp S I AY C)fgf;,o
Options :

Pyramid of biomass in Grassland ecnsystem

(’/J! L/a@gtwfwdj"""t?@”u

Pyramid of biomass in Pond ecosystem
o Ul pdbam (D dy7 30U

2. ¢
Pyramid of numbers in Forest ecosystem
L)) It o (A7 Gr

3. %8

about:blank 55/112
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Pyramid of numbers in Pond ecosystem

(Jults e ey ) 7L

4.

Question Number : 76 Question Id : 8732654154 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Plants which grow in sandy soils are

s D1 K G o A 2

Options :
Oxalophytes
iy o
o Us y/{.

1. #

Halophytes
o Lt

Psammophytes

e

3. ¢

Chasmophytes y
ol e 3

Question Number : 77 Question Id : 8732654155 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 56/112
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A sigmoid curve is related to this aspect of a population
. b v/
‘“'—.:—GQ"D‘:: J::f &) ol 1 gt LJ:”
Options :

Natality

1. %
Mortality
Zo s 1}5 A~
2. %
Population density
Bt 4 «ot”
3. %
Population growth
Ao S A
ey o LY
4.+

Question Number : 78 Question Id : 8732654156 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Percentage occurrence of an individual species in a specific area is
5 69“:1‘{” LUL@&}UJ”' Ci“‘/-/‘/é' U",ﬂf—;{‘

op oh — S e T AE S

Options :

about:blank 57/112
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Abundance

b

Frequency

Saxd

Density

el

Question Number : 79 Question Id : 8732654157 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Plant biodiversity is greater in this zone
é\'é[ﬂ-”époﬂﬁﬂ (‘_}JP:QUJ(_}}""‘]
PP

Options :

Temperate zone

PO P

about:blank 58/112
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Tropical zone

2 )\ ahae

Sub-tropical zone

O ol w0 (i

3. %

Polar zone

~ "
gt-_.ﬂl'l ._-?

Question Number : 80 Question Id : 8732654158 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Periyar sanctuary is located in this state

F.0
ool i oy Lo

Options :
Tamilnadu
95 Ldab”

Karnataka

.‘./
e

2.
Kerala

I

3. ¢

about:blank 59/112
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Madhya Pradesh

022 3

Question Number : 81 Question Id : 8732654159 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In the stem of Cucurbitaceae the vascular bundles are of this type

; ‘! ~ ﬁl:,/ J-'(_? v
el g L C e
p S QUETT S (P O Qi B
Options :

Collateral

o

1. ®
Bicollateral
T RS
2. ‘
Amphivasal
4
3P0
3. %
Amphicribral
Ly
LA
4. %

Question Number : 82 Question Id : 8732654160 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 60/112
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The Botanical name for Red sanders is

(Lol ¥ a7 du

Options :
Dalbergia latifolia
W o &Y t:?"'/*" } :i
1. %

Terminalia tomentosa

Lo 25 Loty L:Jf&”"f:"b

Pterocarpus marsupium

(‘“{'y"’/u g V""/if’

3.

Pterocarpus santalinus

AV b )€ 220

4.

Question Number : 83 Question Id : 8732654161 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The suppression of catalytic activity of Succinic dehydrogenase by
Malonic acid is an example for /

- ~ e ] /
pﬁﬁjjpﬁdfu/aﬁqi (NEJQ/U{#?JJ@ 1( 0 R I
' g6 23 o Ll s Lot =2

Options :

about:blank 61/112
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Feed-back inhibition
LV /)yl

1. #
Allosteric inhibition
/' L)
2. %
Non-competitive inhibition
5 4 =
iy L’f) 2 4;;,@/:&1
3. %
Competitive inhibition
/ r
Zoald) 2 Mo (o
4.9 '

Question Number : 84 Question Id : 8732654162 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The first product of Krebs cycle is

o AL Y T3 C.J-—-’:‘;"_/_j/.

Options :
Malate
F e
Oxaloacetate
M
Lt (¥ );,,f,

2. %

about:blank 62/112
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Fumarate

Ty

Citrate
éﬂfﬂ/

4. ¥

Question Number : 85 Question Id : 8732654163 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The 4-carbon intermediate in Calvin’s cycle is

o oolo@ o (v ) Uk 1 /2> SElY

Options :
Xylulose phosphate
i) L sl
1. % a
Erythrose phosphate
e s 2
2. ¢
Ribose phosphate
¢ gk
3. % -
Ribulose phosphate
4. % - a

about:blank 63/112
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Question Number : 86 Question Id : 8732654164 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

This 1s an example for Crassulacean Acid Metabolism plant

4 - /
v r n 0 ~
::.gJUﬂén o %ef&,)«’%é’fﬁfq_ﬂj_wy

Options :
Cactus
&
aptl
v "
Sorghum
7
2. % '
Sugarcane
S
3. %
Maize
A
.
U\l/:'
4. %

Question Number : 87 Question Id : 8732654165 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The conversion of soil nitrates or nitrites to molecular nitrogen is called
o1t U G UL e 01200 Lyt 24 Ly 7 smcime G
Options :

about:blank 64/112
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Ammonification

C'@L‘J Sy

Nitrification

A A
e pP C
%

1. ®

2

Denitrification

&é&@}fﬂ (Cas
o

3.

Nitrogen fixation

wé\ﬁy-ﬁb

Question Number : 88 Question Id : 8732654166 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

This is a product of f-oxidation of fatty acids.
SV L p 8 S d
Options :
Acetyl coenzyme A
, A ? s 1 e i

1.

Glyoxylic acid

: A
Ao dh En

2. % -

about:blank 65/112
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Aspartic acid
~ "':", Lo s f
— 3
3 %
Phosphoenol pyruvate
c_%fﬁﬂ/:_ﬂ{ Ao J C
4, ® -

Question Number : 89 Question Id : 8732654167 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

Gibberella fugikuroi is
2 5 7

Options :

Alga

d !

Fungus
(_f;,,eé—ﬁ 2
2. ¢
Bacterium
L
3 % I
Virus
K
L ()’/J 9

about:blank

66/112
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Question Number : 90 Question Id : 8732654168 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Seed dormancy is induced by this hormone

Wy wr s S Saw )y &

s p Ol
Options :
Auxin
oAt
1.

Abscisic acid

f'fz,/ﬁJiw_Jl
3. ¢

Gibberellin
.y
SV

Question Number : 91 Question Id : 8732654169 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The characteristic feature of phospholipids of plasma membrane is
] ’ / e ’ '
ey v i i S IR LT A oy

Options :

about:blank 67/112
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Hydrophilic

f\
o7 5l

Hydrophobic

e

Lipophilic

s (PR%

Amphipathic

Lpwr 522

4. ¥

Question Number : 92 Question Id : 8732654170 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is the smallest morphological unit of
Photosynthesis?

o, p BN 0 A Ao ge b2
Options :

Phytochrome

e

about:blank 68/112
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Cytochrome
{n‘? 'j-)/ __;JUL»U
2. %
Quantasome
( o L ]'.9/
3. ¢
Thylakoid
arel?
4. %

Question Number : 93 Question Id : 8732654171 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Chromosomes appear in ‘I.” shape in this type

e ML Um[ﬁdu {f}’“ﬁ/—’
o 2x 5L S

Options :

Telocentric

S Ao

Acrocentric

S 35)

2. %

about:blank 69/112
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Sub-metacentric

P INCZIS N

3.9
Metacentric
/ A b o
e ("..‘-‘A
L% o o

Question Number : 94 Question Id : 8732654172 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Histones are
LI
T ARORNE
Options :

Nucleic acids

' ¢ ¢
;PJJGEA-MJ:J

1. ®
Nucleoproteins
L !
8 3 K
2. ¢
Nucleosides
G w585
3. %
Nucleotides
"{- L)
4. %

about:blank 70/112



6/13/24, 11:58 AM about:blank

Question Number : 95 Question Id : 8732654173 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The Law of Independent Assortment is applicable to

LOBNLT O oo G0 h e b

oy
Options :
Monohybrid cross
. /
iz —0)
1. # :
Back cross
™o * L‘
M .
2. % '
Test cross
! ~ e
3. % '
Dihybrid cross

R SAE 5

Question Number : 96 Question Id : 8732654174 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The ratio of 12:3:1 observed by Sinnott and Durham in Cucurbita pepo
is an example for

e 2 4
o> | wf[,wvf“ﬁ’}ﬂqwqﬁ%@}
w d JM\ it Lo 1273

Options :

about:blank 71/112
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Duplicate gene interactions

1. %
Dominant epistasis
S ile
2.V
Recessive epistasis
) i
) e
3. %
Complementary gene interactions
~ ; ‘) * L
) dﬂ‘uﬂ (_(cg ‘ ¥ (_{:‘-F (&4 Lo-’ f
4.

Question Number : 97 Question Id : 8732654175 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which one of the following activities is not a part of Plant Breeding?

3 oo t ' !
G 318U e Gy i 07 e o3
- (*_'7(_»':‘-5",-4:?.7

Options :

Selection

L)

about:blank 72/112
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Domestication

6L 3

2. ¢
Multiplication
[g_b J “-';’/-49
3, &
Evaluation
'é Lo
_:J *
4. %

about:blank

Question Number : 98 Question Id : 8732654176 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes

Correct Marks : 1 Wrong Marks : 0

Indian Institute of Pulse Research (ITPR) is located at

\22P0) 5 por Oy o T2 B i1 A

Options
Nagpur
U
PN
1. %
Kanpur
Lo B
Lot
2.

about:blank
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Simla
Sl
3. %
Karnal
du ¢
4, %

Question Number : 99 Question Id : 8732654177 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

During transcription, the first transcription factor that attaches to

promoter region is .
2 Yo ,;L_J:' ekt LM$ Gﬁﬁ"’-’f e Ry

Lo o s ¥ S Y

Options :

TFIIA
1. ®

TFIIB
2. 8%

TFIID
3. ¢

TTIIH
4. ®

Question Number : 100 Question Id : 8732654178 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 74/112
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The gene which codes for the enzyme B-galactoside permease in
Lac-Operon of E.coli is

f&hJUUMJI“JJ OM; P
', {.M/_?‘U s p

Ny {,ﬂ;v’/-oi? alin s
Options :
Gene Lac A
/' 1
A DU ol
1. ®
Gene Lac I
e~ Ayt
TV
2.% =
Gene Lac Z
/‘ ¥
=z, o) c'{'y
3. %
Gene Lac Y
Y SIgT
Zoology
Section Id : 873265141
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 50
Maximum Instruction Time : 0
Sub-Section Number : 1

about:blank 75/112
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about:blank
Sub-Section Id : 873265169
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 8732654179 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The flagellum without terminal naked axial filament and lateral appendages is
present in

I,M.Lgf_"*’— UJ}*’,—?! il.@-puj;,fu{.jcj_;ny("-’-uﬂ o9
R df-LL:LLu--U#}"g.L;-J

Options :
Polytoma
b g &5
1. %
Euglena
L 5)
2. %
Monas
oL pe
3. %
Cryptomonas
A
Qe L/
4. v

Question Number : 102 Question Id : 8732654180 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

about:blank 76/112
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Correct Marks : 1 Wrong Marks : 0

Parenchymula and Amphiblastula larve are present in

S ph) o) Vs St

- b
L E IR 3o U eV Ly

Options :
Protozoans
L3 }
WIS
1. #
Sponges
2.
Cnidarians
- ,L ]
& i A
3. %
Annelids
Orade )
4. %

Question Number : 103 Question Id : 8732654181 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 771112
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about:blank

Highest degree of Polymorphism is exhibited by

Options :
Hydra
I/j;
1. ®
Physalia
5 3.
WP v
2. %
Obelia
Les 2 )
3. %
Halistemma
[ F >
L e
4.

Question Number : 104 Question Id : 8732654182 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank

78/112
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Flat worms with ciliated epidermis are

%
-2 92 ‘:gg._,l_l? éﬁ/.lﬂf:ﬂu;/{ 232

Options :

Turbellarians

e

1.
Trematodes
5
oS5l s
2. %
Cestodes
IR
S g
3. %
Polychaetes
o
oA
4, ®

Question Number : 105 Question Id : 8732654183 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 79/112
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Phasmids are absent in

. b =
R BBl 6ol 0*',0_#"[0
Options :

Trichina worm

5 }
1???[-5:5?‘5'/

Round worm

esdsS

2. %
Hook worm
}pﬁ)u uC
3.
Eve worm
1> 9> (#Z
4. %

Question Number : 106 Question Id : 8732654184 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The larva of sand worm is

19, € > Fpn’f@fj

about:blank 80/112
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Options :
Trochophore
. b
s 517
1. ¢
Muller
S
2. %
Nauplius
ok )
3. %
Bipinnaria
o 8
L~ r
4. %

Question Number : 107 Question Id : 8732654185 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Green glands or antennary glands are the excretory organs of

fgfc'_‘"'wd:ﬁr?-’-f:*" 5 9AE Cs/figlf)l P9AL_pr
‘E(_{*;Upﬁt@;t-;

Options :

about:blank 81/112
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Arachinids

o 5 )

1. ®
Crustaceans
N T
U-"“f/ﬁ‘—::f
2.
Insects
L e
3. %
Diplopods
¥k
o5 3 i
4, %

Question Number : 108 Question Id : 8732654186 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The gastropod with internal shell is

Jf?}.f,&/"f—,fl)uc'édﬁdﬂm

Options :

Pila
uil

1. ®

about:blank 82/112
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Patella
JITAW

Limax

oSy

Question Number : 109 Question Id : 8732654187 Question Type : MCQ Option Shuffling : No Display

Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Two jawed pedicellaria are present in

“l 4
L L 297 27 ) {:’-/.‘J‘—"“ft*—f Jio e 720

Options :
Brittle Stars
b
Uy Joss
1. ®
Sea Stars
A% (5
2.
Sea Urchins
LJ-'":—_’_"}! €l
3. % .

about:blank

about:blank
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Sea cucumbers
QL e s pne

4. %

Question Number : 110 Question Id : 8732654188 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Sedentary, colonial and tube dwelling hemi chordate organism is

’ - 5 , - ' =
o 50§ SuB Mt N L Lok o dls QoL T (=

Options :
Balanoglossus
) P
1. %
Ptychoderma
2 1b
L5 )C:’ C
2. %
Rhobdopleura
b
VS I e
3. *
Thyone
o }:-6‘
4. %

Question Number : 111 Question Id : 8732654189 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 84/112
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Bioluminescment ¢olonial thaliacean is

et e Oelad QLLLT 0 dle o)

Options :
Salpa
LJ L.
], % ’
Botryllus
2
S o
2. %
Doliolum
%
3. %
Pyrosoma
bsr 5, 8%
4. v

Question Number : 112 Question Id : 8732654190 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Protonephridia of Branchiostoma are called as
4 :
,{Jﬁiufrjég_ﬂfuﬁgf!b}/xéiﬁ

Options :

Flame cells
N

about:blank 85/112
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Urate cells

el n

2. 8
Renelte cell
[} "‘ L
2= &\_*'f_ /
3. %
Solenocytes
4.4

Question Number : 113 Question Id : 8732654191 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Larva of Petromyzon

o5 b
15 Y rl sl
Options :
Axolotl
S 5K
1. ®
Amphiblastula
Yy Yocpl)
2.
Ammocoetes
e
3.¢

about:blank 86/112
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Auricularia

L 5,7

Question Number : 114 Question Id : 8732654192 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Function of Aristotie’s lantern is

oo UG b))

Options :
Respiration
(e
1. %
Mastication
2. '
Circulation
U:'.:'/
3. %
Excretion
171
4, %

Question Number : 115 Question Id : 8732654193 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 87/112



6/13/24, 11:58 AM about:blank
During development of hemichordate this larva is formed

sy T ons L4
~er Ly s Va0 (o550 L{‘-‘:’"”WU‘:‘;-

Options :
Bipinnaria
[ 5
L st
1. %
Tadpole
L &
J s A
2. %
Tornaria
Lt
3.¢¥
Auricularia

{:/-!){E,-P’T

4. %

Question Number : 116 Question Id : 8732654194 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Among the mollusks, an ink gland is present in
- » /: -'1'-.‘:'. - ’
R A SARTISIPYIVIT g ST ,sﬁ)f e

Options :

Pelecypoda
15 9

about:blank 88/112



6/13/24, 11:58 AM about:blank

Seaphopoda
15 8 <6
2. % '
Gastropoda p
1 e /*,_,(
3. %
Siphonopoda (Cepholopoda)
(V3295 2k
4.

Question Number : 117 Question Id : 8732654195 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In Branchiostoma, the rods are forked at their lower free ends.

X : - j /
QU= 95 552 se e oz M2 20 27T o L.;,../‘,:JJ‘,{

Options :

Secondary gill bars

/
sb Csjt:‘«fa.-_’,-ﬂﬁ.:'c{

], ®
Secondary gill rods
. K £
PP s e /".x_fc’/
2. ®
Primary gill rods
o Bl bl G022
3. ¢

about:blank 89/112
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Tongue bars

/1;“@3"

Question Number : 118 Question Id : 8732654196 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Atrium of Herdmania is internally lined by
B 5 b
J%L':o:-’ Loy 9 ) e b L) YL Lo
Options :

Ectoderm

Mo w9~

1. ¢

Somatic mesoderm

2. %
Splonchic mesoderm
rzgj—:‘ﬁﬂ;“‘l
3. %
Endoderm
(' ,5 .’;-:-'jf
4. %

Question Number : 119 Question Id : 8732654197 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Lampreys are
ot ez oz

about:blank 90/112
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Options :

Marine, Jaw less and fish like

U ded 0 Do e bz s %

1.¢¥
Marine, fishlike with jaws, endoparasitic
s> 91 J1oedrledd ©S
2. %
Freshwater, jaw less and fish like free living
L 528 T Qef 151 Jw et ) <L 80
3. % '
Eustuarine, worm like and non chordates
(E/_'p;.,ﬁ,:.ﬂi.i L:.r_l,_i-?"c}’hvk'):é
4. % i}

Question Number : 120 Question Id : 8732654198 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Number of functional gills in Scoliodon on each side
:w‘(.:,}a{fdaigmd,b_é%w Gyl s
Options :
Five holobranchs and one hemibranch

G")—i'-_-"'fgr’uéf PR

1. %
Two holobranchs and one hemibranch
Ls"'_;-»'—_—?r{"u;; PRIRVIEES S5
2. %

about:blank 91/112
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Four holobranchs and one demibranch

CS’J:":D_A@J-{-'/J 29) (,*)J:’d[./‘l?

3.
Six holobranchs
i & 2
=2 BB
4. %

Question Number : 121 Question Id : 8732654199 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Anapsid skull is present in the animals of the order

ufzj-'..;»,e’.’; b Ao G;frj,ﬁ/ %{tlc}fuuﬂ &

_ea i ol
Options :
Crocodelia
iy
1. %
Squamata
Bt
2. %
Rhyncocephalia
L G g/
3. % B
Chelonia
Lo
4.v

about:blank 92/112
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Question Number : 122 Question Id : 8732654200 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Unpaired air sac in Columba is

. £ '
[ .l

Options :

Cervical air sac

= . A
& s/

1. ®
Anterior air sac
n 5 £
&z Grsp )
2. ®
Inter clavicular air sac
b : .
At Q130 (8 hart U900
3. &
Abdominal air sac
- 5 |
(& Qs (ﬁL{‘:
4. %

Question Number : 123 Question Id : 8732654201 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
The phenotypic ratio of incomplete dominance in f5 is
5 Ml AN -
o £ (5\4‘ o) JLal Z=le v
Options :

221

about:blank 93/112
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i =221
2.

1:3
3.8

1:1
4. ®

Question Number : 124 Question Id : 8732654202 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Y-Chromosome was first identified by
Bl foics S ()Y
Options : '
Henking

s

L

Barn and Bertram

"};{/ PIIPAe

2. ®
Stevens and Wilson
- e PSS
3.9
Mc chung
g
4, % )

Question Number : 125 Question Id : 8732654203 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

about:blank 94/112
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Correct Marks : 1 Wrong Marks : 0

Which of the following disorder is caused by the condition of monosomy
L;f/" d 1}L,,L»ﬁ:lb'¢_¢r_,9.p<f\wbd£ﬂw,ﬁ3}"
Options :

Down’s syndrome

fﬂ,’}-:r" T
1. %
Patau’s syndrome
»
(2 e U L
2. %
Turner’s syndrome
: . b
‘r’ff,?i-g—/ CR2l
3.¢
Edward’s syndrome
) »
¢ st )8
4. %

Question Number : 126 Question Id : 8732654204 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Alkaptonurics excrete excess of

L] f -~ ] L L_éj
-({f;))’%'./lobkfﬂ'mt;u s o S

Options :

Urea

Loy

about:blank 95/112
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Albumen
o]

Creatine

b

Homogentisic acid

4.

Question Number : 127 Question Id : 8732654205 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

DNA unwinding protein in prokaryotic DNA replication

dé%dﬂﬁﬁyﬁfbytimmﬁafdﬁx{nguéﬁjgg@

Options :

DNA - A
1. ®

DNA -B
2.9

DNA -C
3. %

DNA -G
4. %

Question Number : 128 Question Id : 8732654206 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 96/112
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Autophagic vacuole or autophagosome is the term related to

3 &y W .~
R Lw]ljihﬂju/(y_,ﬁ_»_m L Il s s 531

Options :
Golgi body
ol L
1. ®
Lysosome
(’.F'-".:---j.ﬂ
2. ¥
Ribosome
{’M}j ) s
3. %
Centrosome
(Pelazit
4, %

Question Number : 129 Question Id : 8732654207 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
“Survival of the fittest” was proposed by
e rd - » - ] i
Sez 030 35 I o B dS2f023%
Options :

Lamarck
L

about:blank 97/112



6/13/24, 11:58 AM about:blank

Weismann
(e o7
2. %
Herbert spencer
_/_,-:-?_/.l H{IAJ,/{
3. ¢
Darwin
wr s
4. %

Question Number : 130 Question Id : 8732654208 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The RNA polymerase sub unit which performs promoter recognition and
transcription initiation in prokaryotic transcription.

P2IRJ) L#"..L{/.n-g/y St > 27ds) RNA fow(_ju c_i.y;k%’,?/

Options :

v
1. ®

p
2. %

LY
3. %

8]
4. v

about:blank 98/112
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Question Number : 131 Question Id : 8732654209 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The T-wave of ECG indicates
L G stz gl T o E<6
T <
Options :

Arterial depolarization
b G L

Yentricular depolarization

NRAYEE

Ventricular repolarisation

E_:ah;jUﬂj?G}?

Arterial repolarisation
A

Question Number : 132 Question Id : 8732654210 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

From this part, urea can be reabsorbed into medullary interstitium to maintain
osmolarihy at that region

' - b .
’J/U‘%(?’{"f pz ':’/l:-ﬁ.bu-_-a ;-M_’_ju_'/t’! UJJFJ-:-F Lo ol = el ()
- ~ L e
__ét?(ﬂ{f/w_;;’ﬁ/ﬁ}:'}"" L
Options :

PCT

about:blank
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DCT

2. %

Loop of Henle

3. %

Collecting duct

Question Number : 133 Question Id : 8732654211 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is a motor protein

" v . .
S %wwﬁuf’fy; A F s 7

Options :
Actin
5 7
ST
1. %
Troponin
; b
w2
2. % '
Tropomyosin
p
s o) e
3%
Myosin
e
4.

about:blank

100/112
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Question Number : 134 Question Id : 8732654212 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Hyposecretion of this hormone in children is responsible for dwarfism.

e L L L 2 prLcuse sty Uy L3S

Options :
Somatocrinin
B
1. %
Somatotropin
Opzp e
2.9 ‘
Somatostatin
L
ol s
3. %
Oxytocin
» A e
s s
4, %

Question Number : 135 Question Id : 8732654213 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Deficiency of vasopression leads to
2 Wes et o) (£ § TP

Options :

about:blank 101/112
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Question Number : 136 Question Id : 8732654214 Question Type : MCQ Option Shuffling : No Display

Diabetes insipidus

) pdezr &3

Diabetes mellitus

o der s U

Addison’s disease

e
Ssrlvwdo=Z i

Acromegaly
Qo s /T

Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The opening of coronary sinus into right atrium is guarded by

1

Options :

about:blank

Tricuspid valve

37~

Eustachian valve

© LS G2z

about:blank

P Ao L i { - 4 J}j’
a0 he cllivd S ue L1028 el G PP
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Mitral valve

w udd Jfe

3. %

Valve of Thebeseus
@ adE gt

4. v

Question Number : 137 Question Id : 8732654215 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In the base sequence of a coding strand of DNA is ACT GAT GCA TAC, the base
sequence of mRNA transcribed from that is

; AT
AcT G AT GcA The ¢y '-/;*C;)[._,;,:J}H ;j,/:_f';ﬂa_ DNA
cns 5§ RNA o Jo ez v 133 5y
Options :

ACU GAU GCA UAC

1. ¢

TGA CTA CGT ATG

2. ®

ACT GAT GCA TAC
3. %

TAU GAT GCA TAC
4. %

Question Number : 138 Question Id : 8732654216 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 103/112
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The resultant cells formed after meiosis | in oogenesis from parent cells are
ol £ ] o TGE Camplont s ex sl s 5L
Options :
Two primary oocytes

U sy sl 2>

1. %
One secondary oocyte and first polar body
- lb_j. F] L‘: e
(“?G‘.h’ ot s3) Cole 5108 9 5 ]
2.¢
One ootid and second polar body
Ve
r—f@h;}/{:;: P
3. %
Four ootids
:‘-’)} ) ,fl-',_’:
4. %

Question Number : 139 Question Id : 8732654217 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Phospholipids are
(et O saels

Options :
Compound lipids
u'i;,i e
1. ¢

about:blank 104/112
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Simple lipids
g i:J ool

Steroids

(_rjjb_:_;'l_/l

Hydrocarbons

i 5
o M5 b b

Question Number : 140 Question Id : 8732654218 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Formation of glucose from non carbohydrates in known as

- - i S e
_c%dgu’;:«f{:widt@ffyjlé’&ﬂf@%ﬂf =

Options :
Glycogenesis
; s
Qr-'-":."_".“? }( o )j;':?
1. %
Glycogenolysis
s
PE PR )
2. %
Lipolysis
o Y )
3. %

about:blank 105/112
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Gluconeogenesis
s S

4. <

Question Number : 141 Question Id : 8732654219 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

[dentify the true fish

-%/Uii‘wd/d{é?’ﬂ

Options :
Silver fish
ot /2
1. % ’
Devil fish
A x>
2. % J
Sucker fish
rd S~
3. '
Jelly fish
o
4, ®

Question Number : 142 Question Id : 8732654220 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 106/112
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The end product of glycolysis is
’ i Y/
PIPIITS e Rt

Options :
Citric acid
S e
1. ®
Malic acid
S T
2. 7
Pyruvic acid
. 7 s
,:,:‘/? S5 3
3. ¢
Glyceraldehyde

LNy
A

4. %

Question Number : 143 Question Id : 8732654221 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The RQ for protein is
Reud S o2 2l

Options :

0.7

about:blank 107/112
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0.9
3.¢

1.4

Question Number : 144 Question Id : 8732654222 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is not a secondary lymphoid organ
St ot piaS BRE G v wsTor b 5 2242

Options :
Lymph node
5 ek
1. ®
Tonsils
&~ e S
£9.5 &
2. %
Spleen
3. % GL
Thymus
i
4.9

Question Number : 145 Question Id : 8732654223 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 108/112
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One of the following is a toxoid vaccine

95 &t ('_’,_{__,/} ‘f}ijL{': L*EJJJJV;‘(}'_:”‘? S

Options :

Anthrax vaccine

S
Ol 507 )
1.v
Small pox vaccine
A ez
2. '
Typhoid vaccine
(s B
3, %
Rabies vaccine
Lo Ut/
4, %

Question Number : 146 Question Id : 8732654224 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Immunoglobulin abundant in colostrum is
Fd 2 s >
P M eee) Wi & 4B e ]

Options :

Ig—A
1. ¢

about:blank 109/112
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Ig—M™M
2. %

[g-E
3. %

Ig —D
4. %

Question Number : 147 Question Id : 8732654225 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
a -1 antitrypsin used to treat the following disease
b + .
- » ] I -
e Ebd e ot b5 £tz G gy 5> Gz 6! XL

Options :

Cystic fibrosis

1. %
Rheumotoid arthritis
L’..:-'%I J.JJT 55' C i
2. %
Thalassaemia
Ly (£
3 % -
Emphysema
L (24
4.

about:blank

110/112
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Question Number : 148 Question Id : 8732654226 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The first restriction endonuclease enzyme is

o rls (o shiy W56 i 025
Options :

Hind - 11

1. ¥

Hind — 11

2. ®

Eco R-1

Bam H-1

4. %

Question Number : 149 Question Id : 8732654227 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Reagent used in ELISA test is

; - b L ELISA
ey o e Jle) o=

Options :
Endonuclease
L] " i -
et 202)
1. %
Polymerase
e
2. %
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Ligase
P
3, % )
Peroxidase
5671
4.+

Question Number : 150 Question Id : 8732654228 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Ration of vellow {dominant) and brown (recessive) live mice are formed, when
two heterozygons yvellow mice are crossed.

" — PP roldl £ wp
(J&}U,gg>u..l.‘-“—;;“’/:‘f3-°‘¢i‘tl?':fﬂ-?"‘fi S e i

S U 1S arl e (o sl YU 57 /5% 22
Options :
3:1
1:2:1

1:0

2:1
4.¢
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